Q1. About of the world population is concentrated in the northern hemisphere and hence
transport and communication network has developed more in the northern hemisphere.

ST STABTAD ATHEEAT IAL AT UHASHT AT AT FgUAT ATSqF AT TBITAB
S AT SATereh Ak =irer oe,

1. 60%/ %%

2. 70%/9o%

3. 80%/<o%

4, **90% /0%

Q2. Every mtr. As it moves from the earth's surface to the core. The room temperature rises
by 1 degree Celsius.
T AT YSTHST TTHETHS STHSTH ATl THAH T HT. Fieta ¢ e Hiodsd T qraam
FTad.

1. **32/3%

2. 36/ 3%

3. 38/3c¢

4. 40/%o

Q3. Geographers study the factors responsible for spatial distribution and variation of:

STHrErE AT sior A= SETaaTe Jeshi=r HIET AETH Fads Hdard:
1. **People and Place/ == 3T{or STHTT

2. Man and Moon / ATI& ST =%

3. Land and space / STEfi=r 3for smmarter

4. Centre and human/ W& Tor ATHS

Q4. Geography has ...... and ..... are two main branches
ATATHAT ---- ATV ---- T I T T AT
1. Population and Culture / TTHHEAT SATTOT HEFAT
2. **Physical and Human / YT&fae &Tfor 7194
3. Settlement and Commerce / F&T ATTOT SATITE
4. Bio-Geo and chemistry / ST&- STToT THTAA

Q5. All of the following are the component of physical geography except:

GTATA Tl T AT SEITATA T Heahi@ ISt g

1. **Sphere / TEATHTT

2. Lithosphere / J&TaXoT

3. Hydrosphere / STAra<or

4. Atmosphere / FTqTaLOT
Q6. What is the percentage of silica in basic igneous rocks?
e e ey et THTor fohdT 2 319d 2 (2)
20/ %o
30/ 30
**40 /%o
50/ 40
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Q7. Which of the following does not have the properties of sedimentary rock?



FTA AT 0T TTBHIH TSR TOTEH ATera? (2)

4.

Most sedimentary rocks are porous / Igde T TSF Aivgg AqATT

About 80% of the rocks on the surface of the Earth are sedimentary rocks. / J=&1=aT
TEATRITES THTE 80% TS g TS T ATed.

Sedimentary rocks contain fossil fuels such as coal, crude oil, etc. / &< TEHTHLT FibdT,
Fg I TATGIITLEAT SHAT9T TE FadTa.

**Sedimentary rocks are crystalline / TTe3<h @S THicHTHTLE FEATT

Q8. Which one of the following is not correct?

GTATAThT Teh FHI0TT T AT 12 (2)
1. A mineral is an aggregate of two or more than two elements / @RS TgUTsl 19 fohaT aradeT

ST ST T9E

2. A rock is an aggregate of two or more than two minerals / @<= TSl 219 a1 SIT&AT
STEq st U e

3. **Oxygen and silicon account for 95% of the Earth’s crust / Sitfas sfor fErfersmta=r
LA T=AT FAAThT 95% AT AT

4. A rock may be the mass of single mineral / @<= FgUTST Hh @TAST ZATITHT TAAAT 3T

TSR,

Q9. Consider the statement.

A) Most of the rivers in the world originate in mountainous / hilly regions.

B) Rivers do not always flow downhill.

C) If the slope of the region is steep, then the river does more upward mining.

D) Waterfalls form in the last stage of the river.

State the correct statements above

IECIEVAECIGREEIRA R IR

3) ST T Sgah qa= AT SR/ Tad 1 T29Td SITH qraard.
) TAT TgHIH IATAT AR ATgd ATld.

) TRITAT IATE STL AT 3T T A&l HETHT GAT FTd AT Fed.
T) g qLI=AT AqE=IT ToATq AL grala.
FLATRT TR ForeT 7T (3)
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Aand B/ st afora
Band C/ = sifor =
Cand D/ aTfor g
** A and C/ 1 arfor &



Q10. In this stage river erosion increases horizontally.

T TAEAT Tl ATSH S &AL JTeq Fed. (3)

1. Childhood / aTeaT Ta&AT
2. young / d=UT TaEAT
3. **Old age / 9= A&7
4. Stage of development / farhTaT=T srareem
Q11. Potholes and Rapids are formed in the state.
TISTOT GBI SATTOT &TAeAT g & FFEIT A grara. (3)

1. **Childhood / STeET &7
2. Young / T&IT ATEAT

3. Oldage /g5 FTa&AT

4. All/==

Q12. Which of the following processes rivers do their work?
GTATATRT FHTITAT TERATIA TAT T FTF Fard. (3)
1. Erosional process / &120T ST
2. Deposional process / §== TTHAT

3. **Both / qI=gl

4,

None / Tagt ATl

Q13. Consider the statements.
A) In the process of erosion, rocks break into pieces.
B) Deposional process Sludge is stored
C) Beaches are formed due to erosion process
State inappropriate statements.
g fe=ma =
) &AT0T IFohaT e TS graTd.
) THAT TRAT ST AT g
F) AN @07 § &A70T ThaHes Ta1E 2rard
s e/ e =, (3)
1. Aand C/srafors
2. Band C/& afor =
3. AandB/ramfora
4. **OnlyC/ & &

Q14. Mushroom Rock is a form of .......... feature of the wind
&7 @& g ATATA ............. TR AT AL (4)
A. **Erosional / @9
B. Depositional / =g
C. Transportation / a8
D. Throw/%&

Q15. Yardang is a formof .......... feature of the wind

RIECIE I IEO ] 2| I THET AfA 31 (4)



**Erosional / @_
Depositional / §=g=
Transportation / g
Throw / %

Cow>»

Q16. Zeugen is a formof .......... feature of the wind
TS g ATATA .o TR ATAE AT (4)
A. **Erosional / @
B. Depositional / =3
C. Transportation / 98
D. Throw /%&

Q17. Iselberg is a form of .......... feature of the wind
T i g arEm=......, TR STAL AL (4)
A. **Erosional / @=
B. Depositional / =g
C. Transportation / ag
D. Throw /%

Q18. Different landforms can be identified with the help of contours from the topo-map by .............
TG TU=AT FEA T AT ARTeTare faferer & sraor ... TETATH Ao gl (5)
A. Picture / ==
B. **Cross section / &g ¥0T
C. Sketch /¥@Te
D. Photograph / ratf=r=

Q19. Slopes can be broadly classified into .......... categories
TAFTLTLOTIO IALT AR ... AT Fwear (5)
A 3/3
B. 5/4
C. **7/v
D. 9/%

Q20. When the angle or degree is low then the slope will be .............
STEET FIF T 9T ZT FHHT SATAT T58T IATL & oo sqar (5)

A. Uniform /9w

B. Steep /=

C. **Gentle /#<

D. Unequal /3&#HTH



